Calculations

I. PALT IALT ALTsetting 1inHg / 10001t
= +(29.92 - ) * 1000
Il. DALT ISA e IALT
= 15-(2* )
T 1000
PALT OAT " ISA
= +(120 %[ - 1)
ll. TAS s 2% / 1000ft
IAS -> CAS .~ DALT - IAS -> CAS
= +0.02* =
: 1000
IV. XW } HW
WDIR XW WS AWA
WS _ .
= SIN
W ws AWA
= |*cos
V.WCA | e -
TAS +/- HW WCA SIN-1
* —
GS = ASIN (—)
ﬂTkCRS
N :
WCA*®« : TAS +/- HW
N“g
wog W HDG .. WCA
* not accurate - round down! - CRS +/'




Help

deg 010 20 30 40 4550 60 70 80 90
cos| 1 0.98 0.940.870.770.710.64 0.5 0.34 0.17 0

sin ‘ 00.17 0.34 0.5 0.640.710.77 0.87 0.94 0.98 1
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